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1 Define the following with figures and formula where ever applicable 

a. Westergaard’s stress equation 

b. Modified stress equations 

        

 

  

b) Modified stress equations 
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2 Compute the radius of relative thickness of 15 cm thick concrete slab using the following 

data: 

Modulus of elasticity of cc = 2.1× 105 kg/cm2 

Poisson’s ratio of concrete = 0.15 

                  Modulus of subgrade reaction, k (a) 3 kg/cm3  (b) 7.5 kg/cm3 
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(a) 3 kg/cm3 

 

 

(b) 7.5 kg/cm3 
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3 Compute the equivalent radius of resisting section of 20 cm thick concrete slab given that the 

radius of contact area wheel load is 15 cm. 
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4 The spacing between the contraction joints of a CC pavement is 4.2 m. determine the tensile 
stress developed in the CC pavement due to contraction if the coefficient of friction between 

the bottom of the pavement and the supporting layer is 1.1 and the unit weight of concrete is 

2400 kg/m3  
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